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��������	 ���� �� !�"��# "� ��"�!��� � ���� ���� ���� �����# $! ������ ���

"��!���% &� '�"����  (������� ���� ���� "� ���������� !��� �) �� "��)*���!) '�# ����

!���!��)��� !���#�#�� "� ����������+ ���� ��� �����# � ! ������ "� ��, ������ ���� ���!��!

��,����)+ 
����� ���������� "�-���#) � ����.�# � ,����/��� "� �!�����0 ���� ��!����)

"��!����/���� # � ����  ������� ��!!���'� "� ,�#�����0 �*���� ����0 !�����/��� *� ! "���+ 1�

!�/�# �����# � "��!����0 ! "���#� "� ! ������� �� , # ���! ����!� !2�" ���������� ���(���

�,�!����) !�  ���) ��� ��!) "�!2� ���� ��� ������ ��� &� !�/�# &� !��� !��������� "� "���

!� ���(��� �� !��) "��)*�*�� ������# "� ��� ��� "��� ��(�#+


��, ������#� ���� ! " "� ! ������� �� �3����) ���� ���)� ��� ���������4

◆ ���) "� ! �������5

◆ ���� �� ��# � "� "�! "��� $-��" "� "��� ��� ����%5

◆ ����� "� ! "���6"�! "���+

��"�,����� "� ������ �����#�#�� �� !���� $���"������ ��# ��� �����# "� ���-���

(�� ��� ���"������ ��#%0 ! ������� �� ���#�/��/) �� ��� ��#�� ��'�#�0 ����4

◆ �#�-���� "���������# � #���!�� "� �*���� ���� $&� ������# �����#�# � !� " �)

��� ���� "��������� �� ���#�/��/) ��
����
 �!7�'�#����# �����'�#�#�� �#������� "�

�*���� ���� "�� !�/�# �����#�# � ���"������ ��#�%5

◆ ���(�#���� ���)��#�� "� ��'�#� "� !�����/��� $&� �����!�#��0 " �) ��'�#� ������

!�����/��� (����)%5

◆ ��#�!���� ���� ������� #�-� "� ! "���+

	
�����
��4

8+ ��'�#�# "��� ������# � ���� "��� &� �����# "����"� *� "� , ��� #���!�� !� !���

�� ������� ���/) �����#�# ���!�� *� "� ������ #�-�� "� !�����/���+

9+ �� ��� ! ����!����# � �� (�/��/) � � ��� ��#� �� ��������!� ��������!)+

������ ����.�# � ��������� ��������� ������ "� ! ����!���� "�-���#� ����

�������,�!���')+ ����!��# ��������! �# ! ����!����# �0 ��2� &� !� ���'�*�� !���!����#

�#��� � �# ����.�# � ���������0 !2� *� ������(����#� "�� ���� !���#�# � "�

����������0 � , �� ���"��� ������ �����  ��) "� 	7��� � $8:�;% �� (�/� �� �

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� �;



���"�� ������ ��� ������ �����#�# � "�-���#� �#�( ���� "� �<=���� $8:9�0 8:9;% *�

>���#�< $8:9;% [Bla90]+ ����)�)� � ��7��!�� �!����#��0 �3�������� "�-���#) �

��, ������� �� ���#�/��/) ���� , # ����� ���� �#,�(�� !� ���)� ,���� "� ���( #���+

����
 ������������ ���������� ���������

�� ���� �*���� �)��� � , �� ���� "��) &� �� ��� ! ����!����# � "� !)��� �<=���� *�

-�����#�/��) "� !)��� 	7��� � $8:�;%+

������	 ��	��������� $	7��� ���<=����%

@�� �����# "� (��") #������) $A� � ���� �������% � ��� ,� ��! �������� &� � "

���! "�� �*���� ���#� ��#� "�!) ���� "� �*���� ���� ���� !�# ����� �-�#) !� "�(#�#

,��!'����� ��3��� "�� ���!���# �����#�#�� $B = 9B� � ���� �<=����%0 ! �, �� ��#�����4

$���+8%�(�) = Σ
�=−∞

∞
�(��) ��� ![Ω �(� − ��)]

	��� ,)!�� � �����#�4

,$�% � �����#�# "� A� 5

B� � ,��!'���� ��3��) "�� ���!���# �����#�#��5

Τ=1/2B� � ���� �"� "� �*���� ����5

���!$3% = ���$3%63 0 3 ����#+

������	���4

➊ �3������ ��������!) $���+8% � �� ����� �*���� �)��� �����/���)  "�/' #���� &�

����� � �����#�# � A� &� ��� �� !� ,��!���#�  �� - ��#�4

$���+9%ϕ�(�) =��� ![Ω�(� − ��)]
�3������ �����#�#�� ��! �������� "�'���4

$���+C%�(�) = Σ
�=−∞

∞
α �ϕ�(�)��"� α � = �(��)

	��!���# α� ���� "�� "� �*���� ���#� �����#�#�� #� � �����#� "��!���� "� ����

��+

➋ D��!���#� "� A� $B�% , ����/) �� ������ '�!� ���# #����� ���)��(�#0 !� (�/�

 �� - ��#) {ϕ� $�%}+

➌ 
��� "��#�����0 �����, ����� D ����� � ���� �����# #������ &� ���� $�% � ��� ,�

��! ��������) "�� �*���� ���#� ��#� #� '�# �� "��!���� "� ,��!'���)4 �69�+

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� �:



➍ 1� ���!��!)0 ,��!'���� "� �*���� ���� ���� "���������) "� ,�#���# ���!��. �

$������������% !��� ���!�"� !��!����# �� �����/�� "� �*���� ���� +

�����	���	��	 � $	7��� �%

@��!) �� "������ "� �����#�# ,$�% *� "���'���#� ��#� ,E$�%0 +++0 ,�����$�%0 � ��� "� A�0

����!� �����#�# ,$�% � ��� ,� ��! �������� "�� �*���� ���#� ���, �� "�����(���� &� ���� �#�

�!��� � � �����#�0 #���� !�  ���) 86� "�� ���� �<=����+@ $������������� ��������

��������������%+

� -�����#�/��� � �!����� �� ����0 ��,���� ��� #� �*���� ����� ���� �����#  (�����

���� ��#���#�3���� ��� ��#� � �����0 � , �� "��) "� ��7����� � 
�� �#�� [Pap77]+

�����	���	��	 	 ���	 $
�� �#��%

@�� �����# ,$�% "� A� $B=86�% � ��� ,� ��! ������� "�� �*���� ���#� ���, ��

"�����(���� �#� �����#�# � "� ��*��� -	 $� � ���� �"� "� �*���� ����% "�� � ������� !�

,��!���#� "� �����,�� >	$F% $G = 85 9++ �%0 #���� !� ,��!'���� "� �*���� ���� "� �  �� ���

��!) "�!2� ���� �<=����@+

D ���#� "� ������ #��� ����4

$���+�%�(�) = Σ
�=−∞

∞ 
 Σ
�=�

�

��(��)��(� − ��)


!� �����#�#� "� ������ #���4

$���+H%��(�) = �

� ∫
−Ω�

−Ω�+�
��(ω0 �)�3�(�ω�)�ω

��"� � ���� ���� �"� "� �*���� ���� "��) "� ��#����4

$���+I%� = � π
Ω�

= �π
�

��� ,��!���#� J	$ F0�% ���� � #����#� �������#�� "� �!�����4

>�$ω%J�$ω0�% + ++++++ + >
$ω%J
$ω0�% = 8

>�$ω+!%J�$ω0�% + ++++++ + >
$ω+!%J
$ω0�% = �3�$.!�%

++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++++ $���+�%

>�[ω+$��8%!]J�$ω0�%+ +++++++ + >
[ω+$��8%!]J
$ω0�%= �3�[.$��8%ct]

	
�����
��4

�*���� ����� ��( ���� �<=���� ���� "� ��(�� "� ���#) &� �������#� "� ! ����!����

"� "��� "� ���� '���/) ���!�� *� &� "�� "�#�� ���#� "�-���#�+
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�*���� ����� �����#�# � "� (��") ��#������) "�'��� � ��(�#) ���� ��/�#����#�

!��!��)� ��#�� !7���/ J��-����- L7� [Yan92]+

�����	���	��	 	 ����	 $J��-����- L7�%

@D�� ,$�%  ,��!��� "�  ���-��) '����(�#)+ ��!) �3���)  ��#�!���� -$�% ��'����(�#)

���,�# &�!2� -$,$�%% �) ,�� "� (��") #������) $B� %0 ����!� ,$�% � ��� ,� "���������) ���! "�

�*���� ���#� -$,$��%% #���� !� ���� �<=���� 869B� 0 ! �, �� , ���#�� "� ������ #���4

@ +@ $���+;%�(�) = �−� Σ
�=−∞

∞
�[�(��)]��� �[Ω�(� − ��)]

	
�����
��4 ������#�/���� � ����� � �� ����� �*���� �)��� ,�!� � ��(�#)

�*���� ����� *� ��,�!���� ,)�) "��� ������ � �����#�# � #������� &� ���� $"� ���

����#�% ���!�� *� ��"�!���� ����� "� �*���� ���� ��( '�# ���� ����� �<=���� &�

!�/�# �����#�# � "� ��� A�+

1� ! �!#�/��0 ������ ���������� ���� ������� "�-���#� "� ! ����!���� � �����#�# �

-������� "� ����� ���# -�!� $' !�0 ��"� 0 '�"� ��!% �� ���#�/��/) �*���� ����� �!��� �� *�

!�����/���� #�����) ��� ��#�����) � '�# ��# � �*���� ���# � !� �� ������ ���)� "� (���+

������/���� #�-�# � "� !�����/��� ! ��������  �� (#��) "� ! "��� � �����# � "�

��, ������ *� '� ,� "���#���) &� ����-��,�# !�����/2�" ! "���#� "� ! ������� � "���# �+

����� ������������ ���������� ���������	� 

�� ���� �*���� �)��� �������) "� 	7��� � �� ��,��) #� �����#�#� &� (��"� "�

(�/)+ ���!����/���� �����#�# � � "�#��� !�  ,��!'���) ����)� ��� $,�% ��#� ��� ����

"�!2� (��"� $B% � �����#�#�� � "�#�� � � ��� ,� �,�!����) ! �, �� �� ����� !#���!� �

�*���� �)��� &� ! �"���� "�/�'����. ���0 !� !�# ����� 9$,�+B% �*���� ���6��!��")0

�����!��' �� ���)� , ���� ���� "� (���+ ��(���# (���� � ��� ,� ��"�� ���� , # ����� ����

���� "� �*���� ���� ! �����(�#) !� #)����� (��/�� �����#�#�� � "�#�� � [Bla90]+ 1� !�/�#

�������# � #������0 �!��� #�!�� "�'��� � ��(�# ���� , # ����� �!7�'�#����#�� "�

. ��)�,��!'���) �# �����#�#�� ���!��(��") $�A% �"�!) ���� ���#�!����� ! �� �����# � "�

. ��)�,��!'���) "�� �����#�# � "�#��4

v(t) = vm(t)exp(j ⋅ 2πf0t) = [vRe(t) + j vIm(t)]exp(j ⋅ 2πf0t) =
              $���+:%= vI(t)cos(2πf0t) + vQ(t)sin(2πf0t)
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����
��4

�
$�% � �����#�# � "�#�� � ! ��#�35

�3�$. 9π,��% � �����#�# ����)� � ! ��#�35

'��$�% 0 '

$�% � ! �� �����#� ���#) *� ���-����) �#� �����#�#�� � "�#�� �5

'
$�% 0 '�$�% � ! �� �����#� &� ,�/) *� &� !��"�����) �#� �����#�#�� � "�#��+

	����#�# '$�% ���� "� ��� �A "�!) �����, ����� �� D ����� ���� ��#) &� �,��� ����

(��/� ,����� "� ,��!'����4

V(f) = F{v(t)} = 0 pentru |f + f0| < W     $���+8K%

$F{...} �����,�!) �����, ����� D ����� � �����#�#��+%

��!) �� �*���� ���/) ! �� �����#� '
 *� '� 0 ! �, �� �� ����� #�� 	7��� � ��

' � ��������� �B �*���� ���6��!��") "�� !��� �����#�# � "�#�� � ��� ,� ��,)!�� &� � "

���!+ ���� �'����. � �) �� , # ����!) �!�#�*� !��!��� "� �*���� ���� ������ ��(�#�

! �� �����+

	� �#�-� ���� �"� "� �*���� ���� !� ��#���#� �# ���� �"�� ����)� ����4

T = nT0 = n / f0        $���+88%

*� �� �*���� ���/) �����#�# #� � �����#� G� �����!��' G�+��6�+ 	�  (��� �*���� ���#�4

v(kT) = vI(kT)     $���+89%

v(kT + T0 /4) = vQ (kT + T0/4)              $���+8C%


����� ,��!'���� ����)� ��� ���� �� � ��� ! ���"��� !) �*���� ���#� �����!��'�

����  (������ ���!� �0 #� �!�#��*� � ����� "� ���� $D�-+ ���+8% [Pap77].

������	 �� ��������	��: 

v(t) = Σ
k

vI(t)sin c[W(t − kT)]cos(2πf0t)+

   $���+8�%+ Σ
k

vQ(kT + T0

4
)sin c[W(t − kT − T0

4
)]sin(2πf0t)
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D�-+���+8 �*���� ����� �����#�# � �A !� �� ���-�� !��!��� "� �*���� ����



	� �#����) ���,�# "�/�'����.�#� ��� "�� !� " �) !��!���� "� �*���� ���� !��� ��

���(�� �) #�!��/� ���!� �0 �) ��() �!�#��*� ���, ������ *� �) #�!��/� �� �!�#�*� ����!����+

III.4 ������������ ���������� 	� ������� ��	�����������

 

1� '�"���� �� !��)��� "�-���#� � �����#�# � "� ���-��� (�"������ ��#� ����

��!����) "��!����/���� �!��� �� ���� �*���� ���� *� !�����/��� �� �� ������ ���)� "�

��'�#� $"� �3���#�4 -��� "� !�# ��%+ 1� !�/�# ���-���# � �#(���-��0 ���� "��!����/����

���-���� ��  (����  �����!� (����)+

�*���� ����� � ��� ,� �,�!����) ������ "�,�����# � ! �� ����� �#� �����#�#�� "�

���-���4 #�������)0 !� ������)0 '�# ��� � ����� "����� ��������#�� �0�0A+

1� !�/�# �*���� �)��� (�"������ ��#�0 ���� ����� ��� ����!�� ����#��� !�

�*���� ����� ���"������ ��#)0 "�� ���)  �� - ��#��)��� �����#�# � "� ��! �����!��� "� ���

���� *� � ! �� �����# � �����#�#�� "� �*���� ����+

	� ���#�/��/) !� ����	� �� ��	�����	�� ��	��	� ,��!��� (�"������ ��#) "�,����)

"� ��#����4

$���+8I%Φ(�5 �) = Σ
��=�

��

Σ
��=�

��

δ(� − ����)δ(� − ����)

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� HC

Fig.III.2 D��!��� "� �!����� !� �� � ��!���-�#��



�� *� �� �����/���) �����'�#�#� "� �*���� ���� $&� �����!�#�� "� '�# �� �-�#�% �� !�#� " �)

�3� �#� �������#��  �� - ��# "� !  �" ���� ! ��#�� !�  ��/ ���#� *� '����!�#� ���-����

���#�!���� $D�-+���+9%+ �� *� �� ���� "���������#� �����!�� "� ���-���+

��� ��	 !���	�� �� ��	�����	�� ���� "�,����) "��) !�� �����/)4

$���+8�%Γ(�5 �5 �) = 
 Σ
�=−∞

∞
δ(� − ��) Φ(�5 �)


��� � ��� � ��� ���� �"� "� �*���� ���� � ���-����+

	����#�# (�"������ ��# "��!����/�� ��  (���� !� �� "�� �# ,��!���� -# (�#� "�

�*���� ���� !� ,��!��� ���# -�!) "� ���-��� � �! �! �"4

$���+8;%�(�5��5��) = �(�5 �5 �)Γ(�5 �5 �)
��"� ���� � �� ���( #�/��/) '����(�#� "��!���) "� ����+

������	 �� ��������	�� "�  	� �����������	� ����4

$���+8:%�(�5 �5 �) = Σ
�=−∞

∞
�(�5 ��5��)��� �

�

�
(� − ��) ∗ #(�5 �)

����
��4 M ���� ���( #�# �� "���#�� "� ! �' #����5 7$35<% �����/���) ,��!���

�)������#������#� � ,�#���#�� "� ��! ��������� � ���-���� ���# -�!� [Pra91]4

$���+9K%#(�5 �) = $ ��� �

�

	�


 ��� �


�

	�




	
�����
��# 
 � ,� , # ���� ������ �!������ ���-���� �� ���� ��!���-�#��� "�� *�

�� ���� "� , ��) -�������) !��� ��"�! �� ��#� "� ��/ #����+

����� �
��������� ������� � ����������


��, ������#� ���� !��!��� "� !�����/��� �� �3����) ���� ������� ��������� ��

 �	����	�� $� = 9�%0 �����!��' ���)��# "� (��� �� !�����/ ��#�� $(% *� ���� ������	

�!�������� ��  �	����	�� $��%0 �����!��' ��� ���# ������# � "� �����#6/- � � "�

!�����/��� $	6��%0 !��� �� � � !�#!�#� !� ��#����#�4

                                                          (III.21)S = ∫
A

B

(x − m)2p(x)dx

	 � ������� "� !+�+ � �����#�#�� ���#+

� � '�# ���� ��"�� � �����#�#��5

[A; B] - " �����# '�# ��# � ��'�#�# � "� �����#5

�$3% � ,��!��� "� "�����(���� �� (�(�#����!) � �����#�#�� �#��� �5

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� H�



 $���+99%Nq = (B−A)2

12 2−2b ∫
A

B

p(x)[c (x)] −2dx

��� "��� ������� ��"�� �)�����!) $������� /- � ��#��% "� !�����/���5

!$3% � ,��!��� "� !�����/��� ��� !���!�������!� "� ����������*��� +� !�����/ ��#��+

1� !�/�# �����# � !� "�����(���� ���, ��) "� '�# �� �� , # ���! ������%���� �������

!� '�# ��� ! ������) � !������+


�����/���� #�����) � ��� ,� ���#�/��) &� ���)� ���#� '�������4

◆ � 	�	�� $���"������ ��#)% ������  ���-��) ����) "� �����#5

◆ �� ����	�� $��#��"������ ��#)% &� !�/�# ��#���#�3)��� �����#�# �+


)������� ! ������) � ��� ���#�� �����#6/- � � "� !�����/��� ���� � ��(�#) ����

, # ����� ���� !����� '����(�#�0 �"�!) ������� #�-� "� !�����/��� ��������& � �����#�#��

��� ������� ���#�!���� ��#�����) �����) "� !�����/���� #�����) � �����#�#��+ �������� "�

���#�!���� ��#�����) � �����#�# � &� '�"���� ���, ���/)��� "�����(����� "� '�# �� � ������

� ���) "�������� "�  �������� $#� ������% *� �
�	��	�� $#� ��!�����%0 &������ !�'2��

 ���	��	��'

��-�#� "� ! ����"��� �0 µ �� , # ���! ����!� !2�" �� �� !�� �*�� "�����(����

�� (�(�#����!) "� '�# �� � ������+

1� !�/�# �����# � !� "�����(���� �$'% !�� �!��)0 #�-��  ����) "� !�����/���0

��#�����) *� &� ������0 �� "�"�!� , # ���" �����
���� �����()��'

������� $�# <"���3%

�� !�����/ � �!�#�� !� ���)� ,�3 "� ��'�#� "� !�����/��� $�% ���-��) "��� �������

�)�����!) ��"�� �����) #� !�����/���� �����#�#�� "�� "�  ����) !� "�����(���� "� '�# ��

�$'%0 "�!) *� ����� "�!) ���� �����,)!��� ! �"����#�4

8+  $! �"���� '�# ��� !�����#�% $���+9C%∫
vi−1

vi

(v − ci)p(v)dv = 0 , ∀ i = 1, N

9+  $! �"���� ���!��#�� ��"���% $���+9�%vi = ci+ci+1

2
, ∀ i = 0, N − 1

*��������
��+

D��!��� "� !�����/��� ��#�����) ���� "�,����) &� ������4

c(v) = vi  pentru vi-1 < v < vi , i = 1; 2; ... N *� A < v < B.

N�# ��#� ,��!���� ���� ���, �� "�����(���� &� �����'�#�# "� '�# �� [A;B].

���� ������� �)�����!) ��"�� "� !�����/��� ���� "��) "� ��#����4
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��

���� � 	�	���� �� 
�����
���� �������� HH



D = E[(v-c(v))2] =   $���+9H%Σ
i

∫
vi−1

vi

(v − ci)2p(v)dv

$�$'% �����/���) '�# ���� ��"�� � '����(�#�� �#��� ��� '+%

��-�� "� !�����/���  ����) �����,�!� ! �"����#� "� �����4

1.  $���+9I%∂D
∂ci

= 0 , ∀ i = 0, N − 1

9+ $���+9�%∂D
∂vi

= 0 , ∀ i = 0, N − 1.

�!����� �� �����!��� !�4

8+   2 ∫
vi−1

vi

(v − ci)p(v)dv = 0 , ∀ i = 1, N

2.   =+�+"+(vi − ci)2p(v) − (vi − ci+1)2p(v) = 0 ⇒ vi = ci+ci+1

2
, ∀ i = 0, N − 1

	
�����
��# 
����� �����#� "� ��, ������ ������� ���� ��� ��� "�#�(�#� ��

, # ���! !��!���� "� ! ����"��� !� !���!�������!) # -������!) ������ "�

!�����/ ��� #������+

$�����	 �!�������� ��  �	����	�� �� !�#!�#��/) !� ��#���� #�� A������4

 $���+9;%D = 1
12

N−2 ∫
−∞

∞
p(v)[c (v)] −2dv

����
��+

� � ���)��# ��'�#�# � "� !�����/��� 5

!E$'% � "���'��� "�  �"���# � � ,��!���� "� !�����/���5

�$'% � #�-�� "� "�����(���� � '�# ��# � ������ "� ��, ������+

1� !�/�# ,��!���� "� !�����/��� &� ������ ��  (���� ��#���� ��� 3�����') "� !�#!�# �

"��� ������� �)�����!� ��"��0 !� ���� ,�����4

 $���+9:%D = 1
12 Σ

i
p(vi)(vi − vi−1)3

	
�����
��+

➊ ���������� "� �� (�(�#����� � ���� ����� !��� -������/) �����# !� ��'�#� &�

�����'�#�# "� '�# �� $�5 A% �� � ����/) ! �, �� ��#�����4

$���+CK%∫



�

�(�)�� = 8

➋ �3������ /- � ��#�� "� !�����/��� � ��� ,� �!���) &���� , ��) �!7�'�#���)

!�#�� "�� ��#���� $���+9;%0 "�!) �� �3���-� "�� ,��!��� !$'% '�# ���� !������4

$���+C8%�� = (�−
)�
��

9−�� ∫



�

�(�)[� (�)]−���

$� � ���)��# (���# � "� !�����/���%+

➌ 1� !�/�# !�����/)��� ���, ���0 !� #�-� "� !�����/��� #�����)0 ��  (���� �3������

"��� ������� ��"�� �)�����!� "� !�����/���4

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� HI



$���+C9%�� = (�−
)�
��

9−�� = ��

��
=! ������

��"�,����� "� "�����(���� "� '�# �� � ������+ ���,�# ��/�#�) !) ��� ���# "� ������

�����#6/- � � "� !�����/��� $	6��% ���� '����(�#0 "����/2�" ����� "� ��'�#�#

�����#�#�� ���#+

➍ 
2��'� ,��!��� ���"������ ��#�0 "� "�����(���� �� (�(�#����!) � '�# ��# �

��'�#�# � ���� �����# ! ������0 ���#�/��� &� � " !����� ���� "��� ��� . �4

◆ ����������	 ���%����#

5�(�) = $ = �

�−
 0 ∀ � ∈ [ ,5�]
◆ ����������	 �
�������	��#

�(�) = �3�(−$ � )0 $ ≥ K0 − ∞ < � < ∞
◆ ����������	 �	���#

�(�) = �

�πσ�
�3� 

 −(
−µ)�

�σ�


 0−∞ < � < ∞

◆ ����������	 &	'���!(#

�(�) = 


σ�
�3� 

 − 
�

σ�


 0 � ≥ K

)◆ ����������	 ����	��#

p(v) = 1

2π
exp 

 −v2

2

 , − ∞ < v < ∞

-������+ 
�����  ����) "� �����#0 !� '�# �� ���, �� "�����(���� &� �����'�#�#

�HN++++ OHN0 ��  (����4 �$'% = 868K+

����� ��	
������� �����
 ��������� 	������� �
���������

����������

1� !�/�# ��#���#�3)��� �����#�# �0 �� � � , # �� #�-� "� !�����/���

��#��"������ ��#� !��� ������ ��"�!���� ������� /- � ��#�� "� !�����/��� ��( '�# ����

! ������/)� ��� !�����/)��� �!�#���  ����� � ,��!)��� ����� "� �����#+

D�� = $'� 0 +++++'���% '�!� ��#�����) ��"������ ��#+v
	� "�,���*��  �������� �����������	� ��  �������� !� ,��!���4

c(v) : RN → {c0, c1, ....., cM−1}

!��� �� !��/) '�!� ��# "� �����# � "�� ������# �� !� ���# "�� !�� � = 9� '�!� �� "� ! "

��"������ ��#�0 �� (�/� ���� ��-�#� "� !�����/��� �#��� $"�  (�!�� �� !�������# "��������

��!#�"���� ������ "����� '�!� ��# "� "��� *� !�# "� ! " %+

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� H�



�� !��!��� "� !�����/��� '�!� ���#) , ���� ���#�/�� ���� �!�#� "� !�#!�# �

�����, ������ D ����� "��!���� $�D� � *������� ������� ���������%+ �!���� !�����/��/)

'�!� ��#  (����� ���� ��#�!���� ���� �#- ���� ����" "� !�#!�# � �D� ������ '�!� ��# "�

�����# ! ���"����+


�����/���� �!�#��) � ! �� �����# � ������ ���� �!7�'�#���) !�����/)���

'�!� ���#� !� #���!� ��!���-�#��� $,�-+���+C�%+ D ��� ��-����# � "� "�!�/�� �#�

!�����/ ��#�� � ��� ,� � "�,�!��) ���,�# &�!2� �) �� ������/�/� "��� ������� ��"�� "�

!�����/��� 4

 $���+CC%D = ∫
S
[v − c(v)] 2p(v)dv

����
��4

	 � ��-����� "� "�!�/��5

!$�% � #�-�� "� !�����/���5

�$�% � ,��!��� "� "�����(���� �� (�(�#����!) � '�!� ��#�� "� �����#+


������ /- � ��#�� "� !�����/��� "����"� "� " �����# '�# ��# � "� �����#0 "�

, ��� *� �)����� " �����# � "� "�!�/��+

1� !�/�# (�"������ ��#0 ���� , # ����� "� #���!� 7�3�- ��#� $D�-+ ���+C(%0 -��"�#

"� "��� ������ � ��� ,� ��"�� !� !��!� �P ��� ���� #� !�/�# !�����/)��� !� #���!�

��!���-�#��� �'2�" �!���*� ����+

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� H;

D�-+���+C 
�����/��� (�"������ ��#)4 $�% !� #���!� ��!���-�#���5 $(% !� #���!� 7�3�- ��#�



	
�����
��#

➊ 	�(��!��# !�����/)��� '�!� ���#� ���� "��# !� !�# �# �� ��!�)��� ! ����#����# �

"� �����# &� !��� #���!�#� . �!) �� � # ��� ����� [Con88]+ ��,��) &��)

�� �����)��#� *� "���������#� �� !��� ���(��� �) #� ��() #���!�� ������ � ���-���  

�� ��!����  ����)4

◆ "������� ��!#�"���) �����) "����� " �) ���!�� "� �� !��!��,�����)

$����������". �����!��' ��/� !��!�#�� &��!��� $������ ! ����#����#� "� �����#%5

◆ "������� ��!#�"���) ��3��) "����� " �) ���!�� "� �� !��!��,�����)

$����������". �����!��' ��/� !��!�#�� !��!���!��� $������ !�����/ ���%+

➋ ���� "� !�����/��� ���� "���������) "� ���)��# ��-����# � "� !�����/��� �"�!)

"� ���� �!��� ��0 &� ���� !� "��� ������� �)�����!) ��"�� "����"� *� "� , ���

�!��� ��+ 1� !�/�# �����#�# � !� "�����(���� ���, ��) "� '�# ��0 #���!�#�

7�3�- ��#� ���-��)  ��� (��) &���!7����� "�!2� !�#� ��!���-�#��� $��. ����

�����%+

➌ 
�����/���� �� (# !��� ��� ���� $;5 8I �����% ��������� #�!��# &� ������

��#��"������ ��#� �3����� ���,�# !) "����������� #���!��  ����� "�'���  

�� (#��)+ �� ������� ���������� ���!��# � "� !�����/��� &� ������#

��#��"������ ��# $�#��� !� !����� "� -������� �#� / ��# � "� "�!�/��% ����

��� �����)+ 	�� ! ������� !) ���� ! ������� �� (# !��� "� �����#� ��  (���

��/�#���� ��� (��� "�!2� &� !�/�# , # ����� "� !�����/ ��� �!�#��� ������ ,��!���

����) &� �����0 ��� �#�� ����!� !2�" �����#� -������/) '�# �� �����, �� "�����(����

*� �� ��� ���+ �!��� ,��� �)�2�� '�#�(�# !7��� *� &� !�/�# ���#�/)��� ���� #���!�

��( �����0 ����!���-�#��� $"�"��� �� ����!����# "�������� ��!#�"���� ������%+

�#- ����� �,�!����� "� ! "����(# ! �� , �� -)���� "� 
 �F�<0 A����� *� 	# ���+

����� ��	
�� 	� ���  ������ �����
 ��������� 	������

1� !�/�# �����#�# � "��!���� !� ��"��"���) ����0 �����!��' !� �� -��" ��"�!�� "�

! ��#���� &���� �*���� ���#� ! ���!���'�0 �� � ��� ��#�!� ������ ! �������  #�-� "�

 �	����	��  � ��	 ���0 &� �����!�#�� ����� ����+ ��� "� ���� ���#�/��) ������ ! "����

�����# � !� ��� ��� $"� �3���#�0 &� !�/�# �����#�#�� ' !�#%+ 	� !�� �! "�'���� ��7��!�

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� H:



"� !�����/��� !� ���"�!���4 � "�#���� "�,�������#) � ����#����# � &� ! " $�

� �

*����������� /���� 0���� )���������%0 � "�#���� "�#�� #�����)0 �"����') ��� ��-��+

�!���� ��� "� ���#�/��/) ! "���� �� �� ������ ���)� "� (��� � "�,������� "�����

�*���� ��# !����� *� !�# ������� $D�-+���+�%+ ��� "� ���� �,�!����) " �� "�!) -��� "�����!)

� �*���� ���# � E"� �� ���E $��� E"�,�����)E% ���� ��� ��!) "�!2� !�� � �����#�#�� ������#+


 ������(�#������ ������ ���� "���������) "� -��"�# �� "� ���"�!��� !��� � ��� ,�

!���!�� ���� �)����� ����� "� �*���� ����+


��!�/�� ��� "�� ���� "���������) "� ����# ,�#���#�� "� ���"�!��� ���#�/�� !��� &�

!�# ��� ����#� !�/ ���� �� ,�#��� "�-���# #�����0 !� �)����� ,���� #� ����#� $D��%0 "� ��

������  �"��+ �*���� ��# "�  �"�� G ���� ������� ,��!��� "� '�# ��#� � � �*���� ���

������ ��� �#� �����#�#��4

+
~
vk = g1vk−1 + g2vk−2 + ........ + gNvk−N


��, ������ ������ ��� ��  (��� ���� ���#�/���� ,�#���# � ��!����'�0 !� �)�����

��,���� #� ����#� $��� � ���(%��� ��� ��� � ����(%���%0 !�  ��� (��) ���(�#����� *� !�

,#�3�(�#����� ��� ����+


�����/���� !� ���"�!��� �����/���) �� !�/ �����!�#�� "� ! " @��( ��@ ������

! ������� "���# �+ 
 "�# � ��� ,� "��!��� ������� "��-���) !� ���)� ,���� "� ��)�� "� ���

@��( ��@ ��� @-��#)@ $�������%+ ���)��# ��)��# � ���� "��������� "� ���)��# !�#�#�# � "�

��� ��� "�� ,�#��� $9�0 � �  �"���# ,�#���#�� "� ���"�!���%+

��� -�����#0 �� � � , # �� !�����/ ��� !� ! "��� @���##��@ !��� �� ��� ��� *�

����!������ ,�����0 ����#�0 ����)�)� � � "�#����# � ! "��� $�
�% [Ras95]0 " �� !) � #���#�

! " ��#�� *� "�! " ��#�� ���� ��'������+ ��  �� ������� ������  �������	 �	����� !���)

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� IK

D�-+ ���+� 
���!����# !�����/)��� !� ���"�!��� 



&���� "��-���) ���##��0 , # ���" �#- �����# N����(� $'�/� !���� #�# �N%0 !�#�� "� � �"���

�����)0 �"�!) �!�� !�#� �,#��) #� "������) >�����- �����) ,��) "� ��!'���� "� (���

-������) "� ����)+ 	����#�# ! "�� ���!�,�!) �!����) !�#�+ ��! " ��# ��� " �� ���!��� "� �

!��� ���( #���#� ! ������/)� ��� !)�� �����!��'�+ 
 "���#� ��-��( �!G $b+1,b% � � ,�

, # ���� ������ ! ������� "���# � "�� �� ���,��) ! "���#� ���##�� �� ��!���� ���!��# ������

�!�����+ ��� "� ���!�,�!� "� �� ��!���� � !�����/ ���# � !� ! "��� ���##�� �� , �� ���"����

"� ���< *� ���"� $8:;9%0 ���!�##�� *� D��!7��$8:;:%+ �#- �����# N����(� ���-��) �� ��

$"��� ������% ������ "� !�����/���+ 
��, ������#� !�����/ ��#�� ���##�� "����" "�

"��-���� ���##�� , # ���)+ 1� ,�-+���+H �� ���/���) �� ! " ���##�� "� ! ������� !� ���� 948

!��� ! "��/) "�(���� "� �������+

	
�����
��#

◆ �� ��#� !��� ���� ���� ! "��������##�� "� ! ������� �����,�!) � !��� ��"�!����

���� ���� �����#�#�� "� "��� ���� ! ������� �!������+ 

◆ 
�����  ����) ��, ����� ��#) "��!���)0 !� ���� ��� ,����)0 ! ������� ���� ���#)

����� "�!) �� " ��*�� ��"�!���� "�(���#�� (���� -������+

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� I8

D�-+ ���+H 
 "����##�� "� ! ������� � "���# � 



III.8 Metode parametrice de compresie a datelor

� �#�) ��� ") "� ! ������� � "���# � ���#�/��/) � "�#���� ������ !� ,�#��� "�-���#

$D��5 ���% !� �3!������ "��) *� !�����/��/) ���������� � "�#�#��+ ��! " ��# ! �������*��

� "�#�# ������ ! �, �� ���������# � ��!���� ���� *� ��-������/) �����#�# "� ��*��� �"�!)

����.�#+ 	� ���,��) �#�-���� !� �����#��3!������ � ����#��#�� ����! ���,�# &�!2� ����.�#

���� ��� 3���� !� ,��!��� �)������#������#� � ,�#���#��+ �!����) ��� ") ���� !�� �!��)

��( "�������� "�  ��	�� ����	�� ����� ���� $�

 ( ������ /��������� 0�����% *� ����

��#� ���#�/��) ������ ! ������� ' �(���� $��������"' 1� ,���0 �� ! " #����� ���"�!��' ���� ��

! "�(# ! "� ! ������� "��0 ���� "� ��(��� "� ��� "�#� "� !�����/����(# ! ���/������0

�!���� �� ���#�!���/) "���!� ����.�#+ ��� "� �

 ���� ����#��) !� ���#� ��7��!� "�

���#�/) ���!���#) � �����#�# � $�� � ,���(1���������0 �� � )����� ,������0 ����%

���,�# &�!2�0 �#- ������ , # ���� &� �!��� �! � ������ �� !������ "�-���#) "� �����# � � ,�

�"������ ������ ! ������� ���������!) � "���# � $�#- ������ J�#��B�#G��0 ���(��0 Q�"�##0

	���-#��/��!A��"�0 �'����D��!7# *.a [Can88], [Jac89], [Pro88]).

1� !�/ ����!�#��0 *���# "� (��� -������ "� ����) � ��� ,� � "�#�� !� ��*���� ����

,�#��� ��� ��-����' "�  �"�� �4

$���+C�%vk = −g1vk−1 − g2vk−2 − .... − gLvk−L + ek

����
��4

-�0+++0-� � ! �,�!������ ,�#���#��0 �����!��' ���������� � "�#�#��5

�	 � �*���� ��# ����	��� !��� . �!) � #�# /- � ��#�� "� !�����/��� *� �� ����

"��!��� "� "���#� ! ��������+

'	 � �*���� ��# "� ������� #� � �����# G "� �*���� ����+

	�!'���� ! "��) '� ! ����� ! �,�!������ ,�#���#�� *�  '����(�#) "� ������#�/���+

��! " ��# ��,�!� ,�#���# *� ���� ������#�/���  (���� ��!'�����(# ! ��������) !�

� �*���� ���+ 1� !�/�# ! ")��� "�,�������#� !� ���"�!��� �� ��������� ! "��

�*���� ��#��� '����+


 �,�!������ ,�#���#�� �� "�������) ���,�# &�!2� �) �� ������/�/� �� ���� "�

���"�!���+ 
����!�#���/2�"0 ,)�) � �����2�-� -�����#������ �� (#����0 �!����) ������/���

� ��� ,� ,)!��) &� �����# '�# ��� �)�����!� ��"��4

$���+CH%E = Σ
k=0

n−1
ek

2 = Σ
k=0

n−1
(Σ
i=0

L
givk−i)2 (g0 = 1)
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 �"���� -# (�#) "� ����� !� ���(��� &�"��#����) �� ���!��� !� ������ !� �

�!����� *� � ��!�� �!��� $! �,�!������ ,�#���#��%4

$���+CI%∂E
∂gm

= 0 , ∀ m = 1, L

	�  (��� ��#����#� �!7�'�#����4

$���+C�%0 = Σ
k=0

n−1
2vk−m Σ

i=0

L
givk−i = 2 Σ

i=0

L
gi Σ

k=0

n−1
vk−mvk−i = 2 Σ

i=0

L
giRmi

                                                                  $���+C;%Rm0 + Σ
i=1

L
giRmi = 0 , m = 1, L

�����!��# �!���� ��#���� � � ,� �����!���� ������� �!����� ���!)4

  $���+C:%g ⋅ R = −r ⇒ g = −R
−1

r
��"� �
�0 � *� � #�2�" '�# �� &����-� "� #� * #� +0 ���� ! �,�!������ "� ��� ! ��#���� ��

��!'����� "� "���0 -������ &� �����!�� & "� ��� ! ��#���� !��� �� !�#!�#��/) �� (�/� !�# �

� �*���� ��� !� �����/) � ,� ���������+ 1����!2� & ����  �����!� "� ��� � ��#��/0 !�#!�#�#

��'����� �� ,�!� !� �#- ����� ����/� ���#�/��� &� �� !������ "�-���#) � �����#�# �+

N�!� ����! # ��) ! *� � ! ���� ! �,�!������ ,�#���#��0 �����!��' ! �,�!������ "�

��� ! ��#���� �
� $� = 85 9+++ �% �� ��!'����� "� "���+

����! "�����#��

$*) 
��� ���� ,��!'���� "� �*���� ���� *� "�(���# (���� -������ &� !��!����#� 

�

�� ; (��� "�� �������#� "� ��#�, ��� "�-���#)R 
$,) ����������� �� (�(�#������ !� ��'�#�# ���� �����# �#��� �0 �'2�" '�# ��#�

���#���"���� "�����(���� ��<#��-7 $!� "�������� K0H%0 &� �����'�#�# K+++8 N0 �) ,�� ��� ��!

"� K09 N+ ��"�!��� ������ !�/�# !�����/)��� (����� � �!����� �����#0 �� (�(�#��)��#� "�

�������� � ��'�#�# � # -�!� EKE *� E8E 0 "�!) �� ���#�/��/)  �������� "� ���- "� K0H N+ 
�

'�# ��� "� ���- ���(��� �#���) ������ !� (���� "� #� ��*���� !�����/ ��#�� (���� �) ,��

�!7��� (�(�#�R

$-) 
�#!�#��� ������� /- � ��#�� "� !�����/��� &� !�/�# ���� !�����/ � #�����0

!� #�-� "� ! ����"��� µ ( µ = 8KK%0 ������ �� �����# "� ������� !� ��'�#� ���, ��

"�����(���� &� �����'�#�# �8N ++++ O8N+ ����������� '�# ���� &� "A � ��� ���#�� "� ������

�����#6/- � � "� !�����/���+

$.) 
�#!�#��� *� �����/������ -��,�! ,��!��� "� ���� '�# ��#� &� "A �#� ��� ���#��

"� ������ �����#6/- � � "� !�����/���0 &� !�/�# !�����/)��� ���, ��� �� ; (���0 ,)�)

�������� 	
��

���� � 	�	���� �� 
�����
���� �������� IC



! ����"���0 � ���� �����# ����� �"�# "� � G>/0 �*���� ��� !� C9 G>/0 ������  ���� �")

� �����#�#�� "� �������+ 
�  (���'���R

$/) ��"�!��� ��!'����  (�����) ���� ! ������� "� ��� E���##��E $�� (�/� "��-�����

"�� ,�-��� ���+H% �  !����#�� K88KKK88+ 
��� '� ,� ��!'���� "�! "��)R
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